Bevezetés — Ismétlés

Fliggvények:

I. rész

1. f(x)=22+3, 2. f(x)=1-3x, 3. f(z)=mz+b,

4. f(x)=2%, 5 f(x)=ax®’+bx+c, 6. f(x)=2>—2—6,

7. f(x) =22 —4x—6, 8. f(z)=(z+4)(1—x).

II. rész

L @) =VE, 2 f@)=VZ=ld, 3 f0)=2", 4 f@)=VF.5 f@) =1,
6. f(z)=2", 7. f(z)=logyx, 8. f(x)=(1/3)", 9. f(z) =logys37,

10. f(z) =cosx, 11. f(x)=sinz sin2:1c+coszx=1, sin2x , cos2x, sin2:1c, cos?z .

Algebrai 6sszefiiggések:
I. rész

(a+b)?, (a—b)?, a®—b?, a®—b3,
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7. 22 4+6x+5, 8 222 —4x+6, 9. —22% + 162 + 1,
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II. rész
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11. log, 8, 12. log; 8, 13.100%, 14.0,01'8% .



Egyenletek:

I. rész

5. lx4+2]=1, 6.2e—-3|=4,

II. rész

1222 =0, 2.3-22-6=0, 3. 2z+2+2f*1:g, 4. 3% 4.9 427=0,
5. lgx=1, 6. 2logyz+1=0, 7. 2zlgx—2x=0, 8. 10g§x=210g2x,
9. lgz+1g3=1, 10. loggz —logz;2=2, 11. logga®+logsx —12=0 .
Egyenl6tlenségek:

I. rész

1.1422>0, 2.1—22>0, 3.2x>2%, 4. 22 -4z +7>0,

142z (x +2)-3" 9\
5 ———— >0 6. ————— >0 7.2%(1 -2 0
1—x2> ’ a:2—417—|—3> ’ ( 7)" >0,
II. rész

1
1. 2logyz+1<0, 2. g95—2/31og235+x—2/3>o, 3. lz+2|<1,

1

4. lx+2/>1, 5 [2¢—-3| <4, 6.|13—22|>4, 7. —— >1.
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